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Question1:-World watershed Day is celebrated on

        A:-March 2

        B:-January 2

        C:-February 2

        D:-April 2

        Correct Answer:- Option-C

Question2:-Who is known as the father of Indian planning?

        A:-M. Visvesvarayya

        B:-Dadabhai Naoroji

        C:-Nehru

        D:-M.N. Roy

        Correct Answer:- Option-A

Question3:-The NITI Aayog came into being on

        A:-June 1, 2015

        B:-July 1, 2015

        C:-April 1, 2015

        D:-January 1, 2015

        Correct Answer:- Option-D

Question4:-Who was the founder of 'Admavidhya Sanghan'

        A:-Sahodaran Ayyappan

        B:-Vagbhadananda

        C:-Kumara Gurudevan

        D:-Ayyankali

        Correct Answer:- Option-B

Question5:-The News paper 'Voice of India' related to

        A:-Mahatma Gandhi

        B:-Dadabhai Naoroji

        C:-Nehru



        D:-Bal Gangadara Tilak

        Correct Answer:- Option-B

Question6:-Which of the following Strike is not related to Mahatma Gandhi?

        A:-Champaran

        B:-Kheda

        C:-Bardoli

        D:-Admedabad mill strike

        Correct Answer:- Option-C

Question7:-The last popular protest organised by the Indian National congress
under the leadership of  Gandhiji

        A:-Simon commission

        B:-Quit India movement

        C:-Civil disobedience movement

        D:-Cripps mission

        Correct Answer:- Option-B

Question8:-Who is the present minister of youth and sports in India

        A:-Hardeep singh

        B:-Piyysh Goyal

        C:-Giriraj Singh

        D:-Anurag Thakur

        Correct Answer:- Option-D

Question9:-The longest river in Kerala

        A:-Periyar

        B:-Panha

        C:-Bharathanyzha

        D:-Kaban

        Correct Answer:- Option-A

Question10:-Who is known as the 'Iron man of India'?

        A:-Subhash Chandra Bose

        B:-Nehru

        C:-Sardar Vallabai Patel

        D:-Bal Gangadra Tilak

        Correct Answer:- Option-C

Question11:-Pick the odd one from the following list

        A:-Spam

        B:-Trojan Horse



        C:-Phishing

        D:-Firewall

        Correct Answer:- Option-D

Question12:-Pick the odd one out

        A:-Google

        B:-Safari

        C:-Mozilla Firefox

        D:-Internet explorer

        Correct Answer:- Option-A

Question13:-Name the coding system that can represent almost all characters used
in the human languages in the world

        A:-Unicode

        B:-ASCII

        C:-ISCII

        D:-None of the above

        Correct Answer:- Option-A

Question14:-Processed data is known as

        A:-Knowledge

        B:-Wisdom

        C:-Data

        D:-Information

        Correct Answer:- Option-D

Question15:-Internet is an example of

        A:-MAN

        B:-PAN

        C:-WAN

        D:-LAN

        Correct Answer:- Option-C

Question16:-Bluetooth can be used for ________ communication

        A:-Long distance

        B:-Short distance

        C:-Mobile phone

        D:-All of these

        Correct Answer:- Option-B

Question17:-Antivirus software is a/an

        A:-Disk defragmenter



        B:-Utility software

        C:-Application software

        D:-Operating system

        Correct Answer:- Option-B

Question18:-If Tracks and sectors: hard disk, then ____________ Compack disk

        A:-Zeroes and one

        B:-Pits and lands

        C:-Row and columns

        D:-None of the above

        Correct Answer:- Option-B

Question19:-Which software is use for calculation?

        A:-Word processor

        B:-Spread sheet

        C:-Presentation

        D:-Multimedia

        Correct Answer:- Option-B

Question20:-1 GB is ___________ Kilo bytes

        A:-1000

        B:-1024

        C:-1024 × 1024

        D:-1024 × 1024 × 1024

        Correct Answer:- Option-C

Question21:-In a worksheet, ____ is formed when a row meets a column

        A:-Cell

        B:-Spreadsheet

        C:-Work sheet

        D:-Range

        Correct Answer:- Option-A

Question22:-The save, print commands are available in _________ menu of the
worksheet window

        A:-Insert

        B:-View

        C:-Edit

        D:-File

        Correct Answer:- Option-D

Question23:-In a worksheet, B3:H25 is called a



        A:-Cell

        B:-Range

        C:-Worksheet

        D:-Graph

        Correct Answer:- Option-B

Question24:-Which one of the following is NOT a mathematical function used in
spreadsheet

        A:-SUM ( )

        B:-ROUND ( )

        C:-LINE ( )

        D:-COUNTIF ( )

        Correct Answer:- Option-C

Question25:-Which of the following statements is/are correct about open office
Impress
(i)    Open office Impress is a presentation software
(ii)   Open office impress is a free software

        A:-Only (i)

        B:-Only (ii)

        C:-All of the above (i), (ii)

        D:-None of the above

        Correct Answer:- Option-C

Question26:-The process of removing unwanted part of an image is called

        A:-Hiding

        B:-Bordering

        C:-Cropping

        D:-Cutting

        Correct Answer:- Option-C

Question27:-Which one of the following is a way to save a spreadsheet
(i)   Select Save from File Menu (File  Save)
(ii)   press Ctrl+s
(iii)   Select save button in the standard toolbar

        A:-Only (ii) and (iii)

        B:-Only (i) and (ii)

        C:-All of the above (i, ii, iii)

        D:-(i) and (iii)

        Correct Answer:- Option-C

Question28:-___________ are graphical representation of numerical data

        A:-Legend



        B:-Chart

        C:-Spreadsheet

        D:-None of the above

        Correct Answer:- Option-B

Question29:-A _________ can identify human physical features uniquely

        A:-QR Code Reader

        B:-OCR

        C:-Biometric Sensor

        D:-MICR

        Correct Answer:- Option-C

Question30:-Which one of the following is an input device?

        A:-Scanner

        B:-Printer

        C:-Plotter

        D:-Speaker

        Correct Answer:- Option-A

Question31:-Which one of the following computer accessories is used for text input?

        A:-Scanner

        B:-Printer

        C:-Keyboard

        D:-Speaker

        Correct Answer:- Option-C

Question32:-Which one of the following is NOT a word processor file format?

        A:-doc

        B:-docx

        C:-odt

        D:-png

        Correct Answer:- Option-D

Question33:-Which of the following cannot be included in a style?

        A:-Paragraph formatting

        B:-Character formatting

        C:-Table

        D:-Numbering

        Correct Answer:- Option-C

Question34:-Which of the following is not character formatting?

        A:-Text colour



        B:-Alignment

        C:-Font

        D:-Subscript

        Correct Answer:- Option-B

Question35:-When you want to repeat the same formatting at different places in
your document, you can take the help of

        A:-Character formatting

        B:-Paragraph formatting

        C:-Style

        D:-Tabs

        Correct Answer:- Option-C

Question36:-__________ are areas in the top and the bottom page margins, where
you can add text or graphics

        A:-Bookmarks

        B:-Headers and footers

        C:-Bullets and Numbering

        D:-Tabs

        Correct Answer:- Option-B

Question37:-To do mail merging, you need a text document that contains fields for
address data, and a/an

        A:-Address database

        B:-Letter

        C:-HTML page

        D:-Page break

        Correct Answer:- Option-A

Question38:-The _________ keys are lined across the top of the keyboard

        A:-Short cut

        B:-Numlock

        C:-Function

        D:-Capslock

        Correct Answer:- Option-C

Question39:-To centre align the text, press

        A:-Ctrl+C

        B:-Ctrl+E

        C:-Ctrl+L

        D:-Ctrl+R

        Correct Answer:- Option-B



Question40:-A ______________ is a temporary storage area for data that the user
wants to copy from one place to another

        A:-Hyperlink

        B:-Clipart

        C:-Function

        D:-Cipboard

        Correct Answer:- Option-D

Question41:-If you want to change the background fill for all of the slides, change
the background fill of a ___________ slide

        A:-Master

        B:-Single

        C:-Custom

        D:-Normal

        Correct Answer:- Option-A

Question42:-A ____________ is a single page of a presentation

        A:-Ruler

        B:-Toolbar

        C:-Slide

        D:-Guide

        Correct Answer:- Option-C

Question43:-Pick the odd one from the following list

        A:-Google sheets

        B:-Open Office -> Calc

        C:-Microsoft Excel

        D:-OpenOffice Writer

        Correct Answer:- Option-D

Question44:-Which function in a spreadsheet inserts a combo box on one or more
data columns that lets you select the records (rows) to be displayed

        A:-Autofilter

        B:-Freeze

        C:-Hide

        D:-Swap

        Correct Answer:- Option-A

Question45:-Which of the following statements is/are correct about Hyperlink
(i)   Hyperlinks are cross-references
(ii)   Hyperlinks are highlighted text in various colours and activated by mouse-click
(iii)    Hyperlink is a document code language

        A:-Only (ii) and (iii)



        B:-Only (i) and (ii)

        C:-All of the above (i, ii)

        D:-(i) and (iii)

        Correct Answer:- Option-B

Question46:-Full form of URL is

        A:-Universal Resource Label

        B:-Uniform Resource Locator

        C:-Ultimate Resource Locator

        D:-Unlimited Resources Logo

        Correct Answer:- Option-B

Question47:-We can insert a page number at

        A:-Header

        B:-Footer

        C:-Both 1 and 2

        D:-None

        Correct Answer:- Option-C

Question48:-A number or letter that appears little above the normal text is called

        A:-Superscript

        B:-Subscript

        C:-Supertext

        D:-Toptext

        Correct Answer:- Option-A

Question49:-What item contains detailed information about something in  the text?

        A:-Footer

        B:-Foot Note

        C:-Header

        D:-Head Note

        Correct Answer:- Option-B

Question50:-The space left between the margin and the start of a paragraph is
called

        A:-Spacing

        B:-Gutter

        C:-Indentation

        D:-Alignment

        Correct Answer:- Option-C

Question51:-While typing the key  column and semi column the finger we usually



used

        A:-Index finger

        B:-Middle finger

        C:-Ring finger

        D:-Little finger

        Correct Answer:- Option-D

Question52:-Lever or key used for returning the carriage to the right to start a new
line

        A:-Carriage return lever

        B:-Left carriage release lever

        C:-Line space lever or regulator

        D:-Right carriage release lever

        Correct Answer:- Option-A

Question53:-Abbrevation  used for super intendent and enclosure

        A:-Stn and ednl

        B:-Supr and etc

        C:-Sd and esp

        D:-Supdt and encl

        Correct Answer:- Option-D

Question54:-Type writing machine can be cleaned by using
(i)   Stiff brush
(ii)   Alcohol or WD 40
(iii)  Dish washing liquid
(iv)   Rem oil

        A:-Both (i) and (iv) can be used

        B:-Option (ii) can't be used

        C:-Option (iii) can't be used

        D:-All of the above can be used

        Correct Answer:- Option-D

Question55:-The thin movable metal arms that are used to imprint marks on the
paper

        A:-Type basket

        B:-Type bars

        C:-Roller

        D:-Carriage



        Correct Answer:- Option-B

Question56:-Key arranged in a type writer key board is in the form of

        A:-WQERTY

        B:-QWRETY

        C:-QWREYT

        D:-QWERTY

        Correct Answer:- Option-D

Question57:-Typewriter that can print content in different languages or fonts

        A:-Multiple element type writer

        B:-Single element type writer

        C:-Noiseless typewriter

        D:-Special attached typewriter

        Correct Answer:- Option-B

Question58:-The man behind the invention of the first commercial model type
writer

        A:-Christopher latham sholes

        B:-Henry ford

        C:-Lucian Stephen Crandall

        D:-Alder M.H

        Correct Answer:- Option-A

Question59:-The first commercial model typewriter was mounted on a

        A:-Sewing machine

        B:-Table

        C:-Stool

        D:-Chair

        Correct Answer:- Option-A

Question60:-The key which is used by the typist to type second character

        A:-Shift key

        B:-Tab key

        C:-Back space

        D:-Alt key

        Correct Answer:- Option-A

Question61:-This building has been built ____________ the new plan

        A:-Accordance to

        B:-about

        C:-in accordance with



        D:-for

        Correct Answer:- Option-C

Question62:-He is going ___________ this afternoon

        A:-to have his hair cut

        B:-having his hair cut

        C:-to have cut his hair

        D:-to having cut his hair

        Correct Answer:- Option-A

Question63:-If I had known you were coming, I __________ baked a cake.

        A:-Will have

        B:-Won't have

        C:-wouldn't have

        D:-would have

        Correct Answer:- Option-D

Question64:-He came in as quietly as he could _____________ not to wake the
sleeping children

        A:-almost

        B:-so as

        C:-whether or

        D:-although

        Correct Answer:- Option-B

Question65:-The dancer _______ career was ruined by health problems was on a TV
show last night

        A:-which

        B:-whom

        C:-whose

        D:-that

        Correct Answer:- Option-C

Question66:-__________ your help, I would never have managed

        A:-not

        B:-unless

        C:-despite

        D:-but for

        Correct Answer:- Option-D

Question67:-I wish I __________ go to party on saturday

        A:-could



        B:-should

        C:-would

        D:-will

        Correct Answer:- Option-A

Question68:-Let's go tonight, _____________?

        A:-will we

        B:-would we

        C:-won't we

        D:-shall we

        Correct Answer:- Option-D

Question69:-She has her dog put _________ sleep because of its malignant tumor

        A:-to

        B:-down

        C:-through

        D:-for

        Correct Answer:- Option-A

Question70:-A bouquet of flowers ___________ required for the function

        A:-are

        B:-have

        C:-is

        D:-has

        Correct Answer:- Option-C

Question71:-Please walk slowly. I can't ___________ with you

        A:-hold up

        B:-come up

        C:-put up

        D:-keep up

        Correct Answer:- Option-D

Question72:-The robbers ________ by the police

        A:-have arrested

        B:-have been arrested

        C:-was arrested

        D:-had arrested

        Correct Answer:- Option-B

Question73:-_________! I forgot my wallet

        A:-shoot



        B:-Alas

        C:-Hurrah

        D:-Hello

        Correct Answer:- Option-A

Question74:-___________ the bus arrived, the passengers rushed to board it

        A:-In order that

        B:-Just as

        C:-no sooner

        D:-As soon as

        Correct Answer:- Option-D

Question75:-Pick out the antonym of "noble".

        A:-innoble

        B:-unnoble

        C:-ignoble

        D:-disnoble

        Correct Answer:- Option-C

Question76:-The adverb of "public" is

        A:-publicly

        B:-publicise

        C:-publically

        D:-publicaly

        Correct Answer:- Option-A

Question77:-Pick out the meaning of the idiom in the sentence
She stood by her husband in weal and woe

        A:-During the surgery

        B:-by hook and crook

        C:-in prosperity and adversity

        D:-during illness

        Correct Answer:- Option-C

Question78:-Choose the sentence with the proper word order:
Which/with/has/not/from/she/an accident/last February/ recovered/met Apurva

        A:-Last February Apurva met with an accident from which she has not
recovered

        B:-Apurva met with an accident last February from which she has not not
recovered

        C:-Apurva met with an accident from which she has not recovered last
February



        D:-Apurva has not recovered from last February an accident which she met
with

        Correct Answer:- Option-B

Question79:-Pick out the right expression in Reported Speech:
He said to her, " What a cold day"!

        A:-He told her that it was a cold day

        B:-He told her sorrowfully that it was a cold day

        C:-He exclaimed that it was a cold day

        D:-He exclaimed sorrowfully that it was a cold day

        Correct Answer:- Option-C

Question80:-Choose the right word which means "propel".

        A:-Drive

        B:-Jettison

        C:-Burst

        D:-Acclimatize

        Correct Answer:- Option-A

Question81:-ശരിയായ പദേമത്?

        A:-അ���്

        B:-അ���്

        C:-അ��ി�്

        D:-അ��ി�്

        Correct Answer:- Option-A

Question82:-താെഴ പറ��വയിൽ ശരിേയത്?
(1) നിഖ�
(2) ��ാവ്
(3) വാ�ീകി
(4) അ��ഹീതൻ

        A:-(1) ഉം (4) ഉം

        B:-(2) ഉം (4) ഉം

        C:-(3) ഉം (4) ഉം

        D:-(2) ഉം (3) ഉം

        Correct Answer:- Option-C

Question83:-ഒ��ദമാ�ക - ഇഹേലാകെ� സംബ�ി�ത്

        A:-ഐഹികം

        B:-ഐഹീകം

        C:-ഐതിഹ�ം

        D:-ഐതിഹാസികം



        Correct Answer:- Option-A

Question84:-അർ�ം കെ��ക - �ത�ൽ��മതി

        A:-ആദ�മായി ഉത്പാദി�ി�െ��ത്

        B:-അവസരം േപാെല ചി�ി�് �വർ�ി��വൻ

        C:-ഉൽപ�െ� �റി�് അറി��വൻ

        D:-വീെ���െ��ത്

        Correct Answer:- Option-B

Question85:-ചീവീട് എ�് അർ��� പദേമത്?

        A:-ചേകാരം

        B:-ഝി�ി

        C:-ഉ�

        D:-മ�ിക

        Correct Answer:- Option-B

Question86:-സ�ി നിർ�യി�ക - േസ��

        A:-വിസർഗ സ�ി

        B:-യൺ സ�ി

        C:-�ണ സ�ി

        D:-സ�ര സ�ി

        Correct Answer:- Option-B

Question87:-ആഗമ സ�ി�് ഉദാഹരണേമത്?

        A:-വാ��

        B:-കടൽ�ാ�്

        C:-ഋേഗ�ദം

        D:-തി�േവാണം

        Correct Answer:- Option-D

Question88:-എതിർലിംഗെമ��ക - ര�ാകർ�ാവ്

        A:-ര�ാകർ�ി

        B:-ര�കർ�ി

        C:-ര�ാകർ�ിനി

        D:-ര�കർ�ികി

        Correct Answer:- Option-A

Question89:-�ജക ബ�വചന�ിന് ഉദാഹരണേമത്?

        A:-ആചാര�ർ

        B:-സ�ാമിമാർ

        C:-മഹാ�ാർ



        D:-േയാഗ�ർ

        Correct Answer:- Option-A

Question90:-താെഴ പറ��വയിൽ ശരിേയത്?
(1)  ര�് ��ക�ൾ
(2)  നാല് വരികൾ
(3)  ആറ് പ��ൾ
(4)  ��് �ീകൾ

        A:-(1) ഉം (2) ഉം

        B:-(2) ഉം (3) ഉം

        C:-(3) ഉം (4) ഉം

        D:-(1) ഉം (4) ഉം

        Correct Answer:- Option-C

Question91:-പരിഭാഷെ���ക - Vanity

        A:-െപാ��ം

        B:-അഭിമാനം

        C:-ആ�ഹം

        D:-തിേരാധാനം

        Correct Answer:- Option-A

Question92:-'Too many cooks spoil the broth' എ� െചാ�ിന് സമാനമായേതത്?

        A:-ആള് �ടിയാൽ പാ�് ചാവി�

        B:-ഒ�പിടി�ാൽ മല�ം േപാ�ം

        C:-േവണെമ�ിൽ ച� േവരി�ം കാ�ം

        D:-പെ��ി�ാൽ പന�ം തി�ാം

        Correct Answer:- Option-A

Question93:-ൈശലി�െട അർ�െമ�്? - നീലെ�ാ�േവലി

        A:-സർവസാധാരണമായ വ�

        B:-ഉപേയാഗമി�ാ� വ�

        C:-മേനാഹരമായ വ�

        D:-അ�ർ� വ�

        Correct Answer:- Option-D

Question94:-ശരിയായ വാക�ം ഏത്?

        A:-അപകട�ിൽ ര� േപർ മരണെ��

        B:-എ�ാ െവ�ിയാ��ം അവർ വ�ം

        C:-എെ� എെൻറ അ�നാണ് പഠി�ി�ത്

        D:-അവൾ വ�ിരി�ം എ� ഞാൻ ഊഹി��

        Correct Answer:- Option-B



Question95:-സമാനാർ��� പദേമത്? - ഉൽപലം

        A:-പ�ി

        B:-ഉദയം

        C:-കരി�വളം

        D:-വിളവ്

        Correct Answer:- Option-C

Question96:-വിപരീതപദം കെ��ക - �ാഹ�ം

        A:-അ�ാഹ�ം

        B:-നിർ�ാഹ�ം

        C:-�യം

        D:-ത�ാജ�ം

        Correct Answer:- Option-D

Question97:-'വി��കാരൻ' എ�് അർ��� പദേമത്?

        A:-ആഗ�കൻ

        B:-ആഗസ�ി

        C:-ആ��ൻ

        D:-ആ�യൻ

        Correct Answer:- Option-A

Question98:-ൈശലി വ�ാഖ�ാനി�ക - െചാ�ിയാ�ം

        A:-േപരിന് മാ��� ���ി

        B:-�ൻ��ി�� ത�ാെറ��്

        C:-കഴ�ി�ാ� സംസാരം

        D:-െകൗശല�േയാഗം

        Correct Answer:- Option-B

Question99:-എതിർലിംഗെമ��ക - മിതഭാഷി

        A:-മിതഭാഷിനി

        B:-മിതഭാഷിണി

        C:-മിതഭാഷികി

        D:-മിതഭാഷിക

        Correct Answer:- Option-B

Question100:-പിരിെ���ക  - തദി�

        A:-തദ്  + ഇ�

        B:-തത്  + ഇ�

        C:-തതഃ  + ഇ�

        D:-തദാ  + ഇ�



        Correct Answer:- Option-B


